Practice
Solving Equations: Solving Quadratics by Taking Square Roots and Completing the Square

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review

video again.

#1) Solve by taking square roots: {x-2)" =14

2

#2) Solve by taking square roots:  (x—4) ~9=5

#3) Solve by taking square roots:  2(x-5)° =30

#4) Solve by taking square roots:  4(2a +3)2 =48



#5) Solve by taking square roots: 45= (7n + 2)2

#6) Solve by completing the square and taking square roots: x> +12x+5=0

#7) Solve by completing the square and taking square roots:  x* =2x+7

#8) Solve by completing the square and taking square roots: x> —6x-5=0




#9) Solve by completing the square and taking square roots:  3x* —12x+5=0

#10) Solve by completing the square and taking square roots and then solve again using Quadratic
Formula to verify you get the same solution: x’—6x—12=0




Answers:

#1) x=2+14, x=2-14
#2) x=4+14, x=4-14

1)y x=5+15, x=5-15

#4) a=mg~+ﬁ, a=~%—\/§

#s) n=—242¥2 2 35
77

#6) x=—6+31, x=-6-+31
#7) x=1+2J2, x=1-22
#8) x=3+14, x=3-414

V21 V21

#9) x=2+4Y, x=2-Y2
3 3

#10) x=3+21, x=3-21




Solulions:

1) Solve by taking square roots:

'.#2)_ Solve by taking siji,_m_rc rools;

#3) Sobve by taking square roots:

#4) Solve by taking square roots:
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#5) Solve by taking square roots: 45 =(7n+ 2)2 e e E %‘g
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#6) Solve by completing the square and taking square roots: x> +12x+5=0
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#7) Solve by completing the square and taking square roots; x> =2x+7
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#8) Solve by completing the square and taking square roots: x°* —-6x-5=0

Xz—’é)("l“; = S“+_f[:_ | | A
L i{(ﬁwﬁ}zw#ﬁ
T,HE?).M(. w2 = o+ (ﬂf;*
X%t = 14 7 4 43
(“sf»)Z (3% / 1(::2.?/[?
(a-2)" =¥ I —

x> 2 i

Y s




i19) Solve by completing the square and taking square rools: 337 12y +5=0
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#10) Soive by mmplumg the squ.uc and Idkmg squmc roots 'md thcn solve again using Quadialic

Formula to verify you get the same solution:
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